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IluminandoelárboldeNavidad

ContribucióndeFacundoGutiérrez

Descripcióndelproblema

Enunpequeñopoblado,loshabitanteshandecididoiluminarparaNavidad,uninmensopinoquetienen
enelcentrodesuplazaprincipal.Eljuegodelucesquehanconseguidoarmar,tieneLfoquitos
conectadosentresíenformadeárbol,yunodeellosseencuentraconectadodirectamenteaunafuente
deenergía.Obviamente,paratodoslosdemásfoquitosexisteunúnicocaminodelcableadoquelo
conectaconlafuentedeenergía.

Enunjuegodelucestangrande,algunosfoquitospuedenestarfallados,yotrosfuncionarnormalmente.
Unfoquitocualquieraestaráencendidosolamentesitodoslosfoquitospresentesenelcaminodesde
lafuentedeenergíahastaélfuncionannormalmente.Notablemente,siunfoquitosequema,impideque
seprendantodoslosquecuelgandeél.
Enestasituación,sedeseadeterminarlacantidaddelucesencendidas.

Puedeapreciarseunaposiblesituaciónenlasiguientefigura:

Alosefectosdetenerundescripcióncompletadelestadodeljuegodeluces,setepidequeelabores

unafunciónnavidad(L,Arbol)que,dadaladescripcióndeljuegodeluces,yconsultandoelestadode
algunosfoquitos,permitadeterminarlacantidadtotaldefoquitosencendidos.Losparámetrosson:

L:cantidadtotaldelucesenelárbol(1≤L≤10.000).
Arbol:arreglode2x(L-1)indicandolosenlacesentreparesdefoquitosquesenumerande1aL,donde1
eselfoquitoconectadoalafuentedeenergía.

Lafuncióndeberetornarlacantidaddefoquitosencendidos.

Paraobtenerpuntaje,tuprogramadebedeterminarcorrectamentelacantidaddelucesencendidas.
Además,elpuntajedeunprogramaquedeterminalacantidadcorrectamentedependerádelacantidad
deconsultasrealizadas:mientrasmenosconsultasserealicen,mejorseráelpuntajequeseobtendrá
(seobtendránceropuntossiserealizanmásdeLconsultas).

Ejemplo

SituviesesunjuegodelucescomoeldelafiguracuyoL=15,enunárboldescritocomosigue,

12 13 36 25 24

37 48 715 610 611

712 713 714 49

larespuestadeberíaser7.

Detallesdeimplementación
Enunúnicoarchivo,llamadonavidad.cpp,navidad.c,onavidad.pasdebesenviarunafunciónque
obtengalacantidaddelucesencendidas,usandolossiguientesprototipos:
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EnC/C++:longnavidad(longL,longArbol[][2])

EnPascal:

typeArbolArray=array[1..10000-1,1..2]oflongint;
functionnavidad(L:longint;varArbol:ArbolArray):longint;

Pararealizarlasconsultas,puedesrealizarllamadasunafunciónexterna.
EnC/C++:

intencendido(intfoquito);
EnPascal:

functionencendido(foquito:longint):longint;
(Estafunciónpascalseencuentraenlaunidad“consulta”,porloquesedebeusar“usesconsulta”enel
códigoqueseenviará)

Estafuncióndevuelve1sielfoquitoestáencendido,0siestáapagado,ysegeneraunerrorsise
consultaporunnúmerodefoquitoinexistente.

Evaluadorlocal
Elevaluadorlocal(programaparaprobarejemplospropios)leelaentradaporstdinenelsiguiente
formato:

Línea1:L
Línea2+i(0≤i<L-2):2númerosentre1yLqueindicanelenlaceentre2foquitos.
LíneaL+i(1≤i<L):Un0sielfoquitoiestáapagado,yun1siestáencendido.Elevaluadordeejemplo
queselesproveeusaráestosvaloresprovistosdirectamenteensusrespuestasalasconsultas
realizadasporelprograma.

Elevaluadormuestralainteracciónyresultadoprovistoporelprogramaporlaconsola.

Paraelcasodelejemplolaentradasería:
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Subtareas

Habrácasosdepruebaporuntotalde30puntosenloscualessolamenteelfococonectadoalafuente
deenergíapodrátenermásdeunhijo.


